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23. Suppose you deposit $1000 in an account paying 2% annual interest, compounded
continuously, how many years would |t take for your account to be worth $20007?

ﬂ: Pe/f\t
2000 = 1000 &
/000 o,

RN
In 2 LR ’O‘Q
__z_lf_fj_f—_"- 0o+

02 R

R4, 657 ~
34,1 Ve _1:

T

21. Suppose you deposit $500 in an account
paying 1.5% annual interest,
compounded continuously, what is the

balance after 5 years? 0
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Where .V is the amount of a quantity that exists/remains after I time

periods given an initial amount ¢ and 7" is the percent of
increase/decrease expressed as a decimal.

1. A cup of coffee contains 130 _ a[;_,r_)f
milligrams of caffeine. If caffeine V -
Is eliminated from the body at a @ —:-BO( I—. 11 )t
rate of 11% per hour, how long | >0 />0
will it take for half of this caffeine 5 = | ¢¢

to be eliminated? :
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